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Practice # 1:  Sketch one positive period of 
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b = ____ 

p = ____




(  Recall how 
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 is related to 
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, a horizontal shift of _____ units to the ______________.  In general, for any function 
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 is a horizontal shift of ____ to the __________ if h __ 0, or ____ units to the ___________ if h __ 0.

Let’s graph 
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.  This will be a horizontal (or _____________) shift of 
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To sketch one period of 
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, start at ( _____ , 0), instead of (0, 0).  

Since b =  ___, the period is unchanged.  So, p = ______.  One cycle will be completed at ( _____ , 0) instead of (2(, 0).

(  Extend the graph of 
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 to (2(, 1).  What do you notice?  

That’s a ___________________ function!!!   Therefore, 
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	(  Steps for graphing 
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1.  Graph the “____________ graph” 
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.  Be sure to identify ____, ____, and ____.

2.  Identify the major points of interest on the sketch (__________________________________)

3.  Shift the all the points of interest ____ units left or ____ units right.  Graph 
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Practice # 2:  Sketch each pair of functions on the same axes.  Label all intercepts and relative maxima / minima.  Sketch one period of each.  Use radian measure.  
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Mixed Practice
Show all work and reasoning.  Use a pencil and highlight your answers.

	1.  Determine each value exactly.  (A sketch may help.)

	a)  
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	2.  Determine 
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 and the other two trigonometric values.  Give 
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	3.  Solve for all values of (  between 
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Shortcuts

1.  On the unit circle, label the radian measure for the indicated four angles that are multiples of 
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.  Draw in the reference triangles, and label the sides with the appropriate values.  

	


	Conclusion:   When 
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 is always equal to _________.


[image: image61.wmf]tan

q

 is always equal to _________.


Shortcut to memorize:




2.  On the unit circle, label the radian measure for the indicated four angles that are multiples of 
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.  Draw in the reference triangles, and label the sides with the appropriate values.  

	


	Conclusion:   When 
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Shortcut to memorize:




3.  On the unit circle, label the radian measure for the indicated four angles that are multiples of 
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.  Draw in the reference triangles, and label the sides with the appropriate values.  

	



	Conclusion:   When 
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Shortcut to memorize:
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